9. Journal Entries

Date | Particulars Lf Debit Crede
1 Commission a/c Dr 15000
To unearned commission a/c 15000

( Being adjusted commission received
but not earned)

Calculation purchase

Particulars Amount
Cost of good sold 350000
Opening stock 50000
Less:- Closing stock (40000)
Purchase 360000
11

Given

Ordering cost per order ( O) =300
carrying cost (C) =Rs 2

annual requirements ( A) + 30000
EOQ="7

Solutioin

We have
EOQ = Root under 2A0/C
Root Under 2*¥30000*300/2

Economic order quantity (EOQ) = 3000 Units
1. Application

2. Allotment
3. First and Final call

Failed to pay = calls in arrear ( Bank Dr )
Full vale paid/ paid on allotment = calls in advance ( Cr side tyo allotment money received )




Allotment calls in arrear = No of share applied/ issued share
allotment rate- rate
No of Share * Rate



(Hieed gavca® Jeaes/Short Answer Questions): (8x5=40)

12.

U3dl FIATE %, 900 TIaH 40 Yiderd YATSTHT 30,000 fFdT ST AT AT
AR TAT STHET qhHl [FHATTAN g4a | A Company Ltd. invited applicatior
for 30,000 shares of Rs. 100 each at 10% premium, payable as under:

FT43HT (On application) Rs. 30

ATSHIGAT (On allotment) Rs. 40

gy qA1 AfH f#ErET (On first and final call) Rs. 40

¥3,000 FAW f&dl 9471 @0 A& 9 WAl | A QHidd Y000
mq“a‘ 90,000 mxoqﬁmveooowmw

wwﬂmmmmaﬁwmaﬁnmrﬁm
AFAT | YA TAT ATTH [FETHN THEH 00 GATHT ATRE AU THH AHT T4

Applications were received for 42,000 shares. The board of directors decided t«
allot 25,000 applicants in full, 10,000 applicants 50% and - applicants wer
rejected. It was decided to utilize excess application money in part payment o
allotment. All money were duly received except a shareholder holding 200 share
failed to pay first and final call money.

T e (Required): TeamT Afde@ (Entries for):

1) &4+ (Share application)

11) FEHTE (Share allotment)

111) 999 q41 Af=<H fHEr (Share first and final call.) [1.5+2+1.5=5]

Journal Entries

Date

Particulars LF

Debit

Credit

Application money received
Bank a/c Dr ( 42000*30)
To share application a/c
( Being share application money received)

1260000

1260000

Transfer into share capital
Share application a/c Dr ( 42000*30)
To share capital a/c (30000*30)
To bank a/c (7000*30)
To share allotment a/c ( 5000*30)
(being share application money transfer to share capital)

1260000

900000
210000
150000

Allotment money due
Share Allotment a/c Dr ( 30000*40)
To share capital (30000*30)
To share premium a/c (30000*10)
( Being share allotment money due)

1200000

900000
300000

Allotment money received
Bank a/c Dr (1200000-150000)
To share allotment a/c
( Being share allotment money received)

1050000

1050000

Final call money due
Share final a/c Dr (30000*40)

1200000




To share capital a/c 1200000
( Being share final call money due)_

6 Share final call money received
Bank a/c Dr (1200000-8000) 1192000
Calls in arrear a/c Dr (200*40) 8000
To share final call a/c 1200000

( Being share final call money received)

a. % of factory OH = Factory OH / Prime cost * 100 =20000/130000*100= Rs 15.38%
b. % of Office Oh = Office OH /Factory Cost *100= 10000/150000*100= Rs 6.67%
c. % of selling OH = selling Oh / Factory Cost *100= 5000/150000*100= 3.33%



d. Cost sheet of ABC Company for 2000 units

Particulars

Rate

Amount

Direct materials(2000*40)
Direct wages (2000*25)

40
25

80000
50000

Prime cost
Add:- Factory Olverheads

130000
20000

Factory cost
Add:- Office and Administrative OH

150000
10000

Cost of production

160000

Add:- Selling Overheads

5000

Total Cost
Add:- Profit @ 20% ( 165000*20/100-20)

165000
41250

Sales price

206250

. Tender sheet for 5000 units

Particulars

Rate

Amount

Direct Materials 40 +40*20% = 8
Add:- increase by 20 %

Direct wages Rs 25+25*10% = Rs 2.5
Add:- Increased by 10%

48

27.5

240000

137500

Prime Cost

Add:- Factory Overheads

Factory OH 15.38% of Prime cost
Rs 377500%15.38/100

377500

58059.5

Factory Cost

Add:- Office and administrative OH
6.67% of Factory cost
435559.5%6.67/100

435559.5

29051.81

Cost of production
Add: Selling OH
3.33% of Factory Cost
435559.5%3.33/100

464611.31

14504.13

Total Cost
Add:- Profit 20 % on sales
TC*P%/100-P% ( 479115.44*20/100-20)

479115.44

119778.86

Tender Price

598894.30




13.a. T3l FHATG & 99,00,000 eIl (A7 FWfdes @& TAT | A company
purchased the following assets at an agreed price of Rs. 1,100,000:
=< (Plant) Rs. 520,000
S A1 W49 (Land and Building) Rs. 730,000
ITh @I A R0 Yiqerd gEHT %, 00 ITRT Y [AeRTe W Sehrer AT |
The company paid the agreed price by issuing shares of Rs. 100 each at 20%
discount.

Ta” e (Required): I @98 ¥ 917 [Awbreraar Ata«@ (Entries for
purchase of assets and issue of share)

13.b. T3ar fa. &AM & 9,000 TXHT Y FIA9d TASHAT Y FUUlg 90 gfasra
YATSHT [Tl TH T 5,000, 90 % YA (Hepre T=A1 | (A Co. Ltd. issued
8,000, 10% Debentures of Rs. 1,000 each at a premium of 5% redeemable at a
premium of 10% after 5 years.)

TAR TEE (Required):

OGS (TSBIe AT HRTAR MLART ATTAG

13 a. Journal Entriers

Date | Particualrs LF | Debit Credit
Plant @/C Dlu.ueeeeveeeveeceeeiniieinns 520000
Land and Building a/c Dr...................... 730000
Goodwill a/c.............. Dr
To Vendor a/c / Agreed price 1100000
To capital Reserve a/c 150000
( Being took over A company ltd by
purchased assets and liabilities)
Total 1250000 1250000
Vendor a/c Dr 1100000
Discount on share a/c (13750*20) 275000
To Share capital (13750*%100) 1375000
To share premium a/c
( Being share capital transfer to vendor)




b. Journal Entries

Date | Particulars

LF

Debit

Credit

Issue of Debentures

Bank a/c Dr ( 8000*(1000+50)
Loss on redemption of debenture a/c Dr
To 8% Debenture a/c (8000*1000)
To Premium on debenture a/c (8000*50)
To premium on redemption of debenture a/c
( Being issue of 8% Debenture at 5% premium)

8400000
800000

8000000
400000
800000

Redemption of debenture

8% Debentrure a/c Dr (8000*1000)

Premium on redemption a/c Dr(8000*100)
To Bank a/c (8000*1000+100)

( Being redemption of 8% debenture after 5

years)

8000000
800000

8800000

Agreed price = No of Share* Issued amount

No of share = Agreed price / Issued Amount = 1100000/80 = 13750

Issued amount = Par Value + Premium — Discount
100-20 = Rs 80

Share forfeiture

Share capital a/c Dr
Share premium a/c Dr
To call in arrear a/c
To Discount
To share forfeiture a/c — Profit

Re-issue
Bank a/c Dr
Share forfeiture a/c Dr
To share capital a/c
To Premium a/c




Transfer

Share forfeiture a/c ( no of re-issued share* actual profit per share)
To capital Reserve a/c

Combine

( allotment, final call and share forfeiture)

Issue of share for cash ( application, allotment and Final call )
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14, T3AT FHAGRI Tqausl 9 ATIGEH FHFENEE [@eusl & : Following

information was taken from a company as on 3 1st Ashad, last year is given as:

Particulars Amount (Rs.)
FITAATAT (Prepaid insurance) 8,000
&AHATRT (Gross profit) 420,000
AT AT Aigwhis @ral (P&L appropriation account) 150,000
ddd (Salaries) 42,000
aTigeT garr (Carriage outwards) 5,000
fa=r @+ (Selling expense) 18,000
gemHTE @9 (Administrative expenses) 25,000
2151 @9 (Interest expenses) 12,000
wTeT @9 (Rent expenses) 36,000

99 SHe&reEs (Additional Information):

a. g¥arad @rarer (Purposed dividend) Rs 90,000

b. ufywATaT @+ «@f@dr (Prepaid insurance was expired) Rs. 6,000.
TAR e (Required): ATRT-ATFRITT @TAT T ATHRT AT aTSHIS @rar

(Profit an [3+2=5]
a. Profit or loss account of ABC Company
Dr Cr
Particualrs Amount Particulars Amount
To Gross loss b/d By gross profit b/d 420000
To salaries 42000
To carriage outwards 5000
To selling expense 18000
To administarive expense 25000
To interest expense 12000




Rent Expnese

36000

To prepaid insurance Expired 6000
To Net profit c/d 276000 By Net loss c/d
Total 420000 Total 420000
b. Profit or loss appropriation account
Dr Cr
Particulars Amount | Particulars Amount
To Dividend By Balance b/d 150000
Proposed Dividend 90000
Cash dividend
Interim Dividend
( either given in trail or additional
information)
To General rserve ( additiona info) By Net Profit b/d 276000
To tax paid ( last year ( trail By provision for tax ( tarial
balance) balance diyo vane )
To Balance/surplus 336000
Total 426000 | Total 426000
PETTOUTC MIVETITOTY SYSTETTT. 9]

18. a.

O UFlE IJcIed T R U AW (€5l T | UFEl HHGRA UF HiEATHT
¥00 UHE IIEA e | Iiq FUeT SUTAT X &, 500 WHl G, |

The time allowed to produce 80 units of output is 2 hours. A worker produced
400 units during the month. Wages rate per hour is Rs. 800.

TS a9 (Required): 3T FTHITHT T4 (Wages of a worker)

~ o~

Solution

Total wages = Total Time Taken* Wage rate Per Hour

Total wages = Rs 8000 Ans

Working note

10 hours Rs 800

Total time taken = Total output/ one hour output

=400/ 40 = 10hours

2]




